Managerial Accounting
Acct 2301

Chapter 8 Quiz

Select the best answer for each question.
1. Portales Company provides the following standard cost data:

Direct Material (2 gallons per unit @ $6.00 per gallon)

$12.00

Direct Labor (3 hours per unit @ $10.00 per hour)

$30.00

During the period, Portales produced and sold 20,000 units, incurring the following actual costs:

Direct Materials (38,000 gallons @ $5.80 per gallon)

Direct Labor (63,000 hours @ $10.25 per hour)



What was the materials usage variance?
a. $12,000 favorable

b. $12,000 unfavorable

c. $11,600 favorable

d. $11,600 unfavorable

e. None of the above.
2. The following static budget is provided:
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What will be the budgeted net income if 22,000 units are produced and sold? 
a. $99,000 

b. $60,000 

c. $56,100 

d. $51,000

e. $104,000

3. Fort Sumner Company makes a product that is expected to require 3.0 hours of labor per unit of product. The standard cost of labor is $5.00 per hour. Fort Sumner actually used 3.1 hours of labor per unit of product. The actual cost of labor was $5.25 per hour. Fort Sumner made 2,000 units of product during the period. Based on this information alone, what is the labor price variance? 

a. $1,500 favorable

b. $1,500 unfavorable

c. $1,550 favorable

d. $1,550 unfavorable

e. None of the above.

4. Assuming actual volume is 10,000 units and planned volume is 12,000 units, with a budgeted selling price of $5 per unit, which of the following would accurately represent the sales volume variance?

a. 2,000 units favorable

b. 2,000 units unfavorable 

c. $10,000 favorable

d. Both A and C

e. Both B and C

5. Tres Piedras Company developed the following static budget at the beginning of the company's accounting period:
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$16,000
4000
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$ 8,000






If actual production totals 7,400 units, the flexible budget would show what amount of 



variable costs? 
a. $  8,000

b. $  4,000

c. $  4,300 

d. $14,800

e. $  3,700
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